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ARCE £ €945 2279 ABCEF 9] 29| 92 180°x (5
2) = 540°

540° = 105° + 120° 4 36° + /DCE + /DEC + 62° + 110°
(DCE + /DEC = 107°

ADCE 9| A

/x = 180° - 107° = 73° o]t}
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@® 60° @ 90° @100° @ 120° ® 150°

(x=50°): (x+50°)=4:12=1:3
X+ 50° = 3(x — 50°)
. Zx = 100°
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3. o2 I1™A 5.0ptAB : 5.0ptBC : 5.0ptCA =5:3: 1 o]11, 9]
=7} 277 & W, 5.0ptAB 2] Zole} /AOB 9] A7]&=?

@157r, 200° @ 15m, 210° ® 187, 200°

@ 18, 210° ® 21x, 200°

~~ 5
5.0ptAB = 9 X 27w = 15

(AOB = g % 360° = 200°




4. Thg 1% ¥le)4 AC//OD , BOD = 30° 5.0ptBD = 6em |
5.0ptAC 9] ZAo|=?

@ 12cm @ 15cm ® 18cm @ 2lcm (@)24cm

/CAO = /DOB = 30° (‘&%1Z
£CAO = £ACO = 30° (~ OA=00C)
6 : 5.0ptAC = 30° : 120°

N

2. 5.0ptAC = 24(cm)
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